Beyond Process
Mining: From the Past
to Present and Future

Wil van der Aalst
Maja Pesic
Minseok Song

WWW.processmining.org

Technische Universiteit
Eindhoven

University of Technology

Where innovation starts


http://www.layoutsparks.com/myspace-layouts/footsteps+in++s_0�

Process mining: Classical View
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Operational Support:

Detect, Predict, and Recommend
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Operational Support
Based on Replay
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Play Out (Classical use of models)
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Play In (Process Discovery)
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Replay can detect problems
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Replay can extract timing information




Example:
Time-based
Operational
Support (TOS
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Architecture
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Step 1: Learn Transition System
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Prefix-set-activity abstraction is used here.

Other abstractions possible.
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Step 2: Replay Log for Time Information

€:0,0,0,0,0,0,0] e:[11,9] e:[45,27,29,17,21] e:[68,32,50,55,35]
r:[68,32,50,19,14,55,35] (CX r[39.47] r[23,5,21,38,14]  (Ox r[0,0,0,0,0] (Ox
s:[6,14,11,14,9,9.9] s:[18,8] s:[23,5,21,38,14] s:[0,0,0,0,0]
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e=elapsed, r=remaining, and s=sojourn.
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Step 3: Calculate statistics
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Start Operational Support
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T=10
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Conclusion
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More on building
transition systems
annotated with

time ...
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Input
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Building transition systems
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Annotated transition system based on

remaining time
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Predictive information

average: 7.2 average: 0
average: 10.33 st. dev.: 1.79 st.dev.: 0
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